1

U

= B ¥ @ Ns=1:250

T X F B L=122.

rS==1-50LH

®O snmus

E®I L=2.60 BRI L=3.80

@) womus

EfI L=2.60 BRI L=190

@XM HEE - BEAR L

122.00 l
ﬁ) 9.57 5.45 9.7 ? 4.24 | 1a
5 5 5 '
g o I B @fi=s36 B ISR - £ : R =
R ONE: I
- Or=z00 B | @) L=s3e e T ma
g /ELUL o P
; gl i 7| %% 5491 18
B & .
; . P i : A § i [ [
g - . / — i
< o X O N -, ' N Y AN AN \\\\\ P ‘_—_— Zs
AT TERTER R R TR RN RN DR 4 I E e — = il
) = — e T i ay
e <> TR T s W po—elilcony A
-— e B & - - f—o— g l z
ey —-—— - —¢ - g > & i i <> & e
I & ® el — | e o --——;—:'9—"""""‘" CE=EST #10x 1500
3 _ @ ______________________________________________ et et — T 12 _||l lL
N R A L— g
= % - k\\\\ RN NN \.\ N >-\ 5 ; = 7
- N 16555.35 ¢ L=55.05 _ u
L_:Eﬂﬁ:ls d) g g L=1300x 2(8 - 1)
s -1 _ @ L=55.35 B-3e-p L=55.05 [ T o man
wmonw” M,gl_ 1pR%A VREE L=130+1.30=2.60m
1=0.60+2.35106 | 4.00 5 1oF%rVE@E L=130+0.6+0.6+1.3=3.80m
j; 7.27 E (224 Had 3
- 1) 122.00 ——————— I
HWARAS
TR & B¥1 (=2.60 B#I L=1.90
e e E®I (=2.60 BAL [=3.80
AR
L- I MERE L @ %Uljj
R fl £ = ERES|  T-7wi{X RIRE # = B OH B -
-1 3 - o ¥
g = 2 & # B {CEi U] <<->|EM-CEB, 5° -2C| FEP30 | B %:2: BREET
o= BB T |MR:HAF-58T, 3¥7:NHT110.LS, #-L:H=8m (ERH-M) 3% | 2% b R
| ESARYE L-2BERE = —
—— | & g % | pvEzEs GHERAVIFLYE) D = pREs| T-7h9AA aWwE | W = m ATSETTE (3=1:500)
? L L (0) |[<€=3>|EM-CES. 5" -2C| FEP20 | s4ES f',, Kwie.
= # i DEBBIN, Hiks 10150048 3@k 2 @ Lokﬂ}#ﬁ| ER = B BEES
10

18




